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(Marks : 30)
Choose the correct answer.

Each question carries 1 Mark.

The word ‘Ethics’ comes from —

(A) Greek word ‘Ethica’
(B) Latin word ‘Ethica’
(C) Germany word ‘Ethica’
(D) None of the above
‘Ethics’ *I%(b G017 —

(A) &% *=1 ‘Ethica’ (A&
(B) =01 *= ‘Ethica’ (P
(C) @ISl *= “Ethica’ (TS
(D) Toltad (I o

The word ‘Hedonism’ comes from —

(A) Hedoen
(B) Hedoni
(C) Hedone
(D) Hedoin
‘Hedonism’ *=f0 G108 —
(A) Hedoen
(B) Hedoni
(C) Hedone
(D) Hedoin
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. Which theory of punishment justifies the law of ‘An eye for an eye and tooth for a

tooth” —

(A) Preventive theory

(B) Reformative theory

(C) Retributive theory

(D) All of the above

“(OICAT WS (B G MICOd et e’ — oS % IS (1 T S 2
(A) dfstiaes STeam

(B) IRCANLISIE oM

(C) efer=iidge Todm

(D) T TRI

“Punishment is negative reward” — who says this ?
(A) Kant

(B) Plato

(C) Hume

(D) Aristotle

“AfE 2o (o SR’ — SfEh i

(A) T

(B) caite!

(C) fzex

(D) =mfEo5e

Which one of the following theories of punishment does not support death sentence ?
(A) Preventive theory

(B) Reformative theory

(C) Retributive theory

(D) All of the above

(i@ F2IF No7 OGHT (ST Jme T FCl 2

(A) efSRASRE oM
(B) TG T
(C) gferar Toam
(D) THER IRI
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Niskama karma means —
(A) Selfish action
(B) Wrong action
(C) Great action
(D) Selfless action
TS 5 et (@R —
(A) FEe 1
(B) s
(C) = &
(D) fRemief f
How many dimensions of pleasure are taken into account in hedonistic calculus ?
(A) Four
(B) Five
(C) Six
(D) Seven
SRR 9ol LelaAIce F0AF D Al 212e Tl 2R 2
(A) o9
(B) v
©€) =
(D) e
Who advocated ‘Greatest happiness of the greatest number is the ideal of moral life’ ?
(A) Mill
(B) Hume
(C) Kant
(D) Plato
T @R AR 42 ("o s — Sfelt 57 2
(A) fort
(B) fax
(C) =%
(D) CeITo!
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9. How many moral sanctions are recognised by Bentham ?
(A) Two
(B) Three
(C) Four
(D) Five
51 (BN Ao Touf (Afes fRge Wit 2
(A) 72
(B) fe
(C) o=
(D) =i
10. Can ethical statements by verified as true or false ?
(A) Yes
(B) No
(C) Both A and B
(D) None of the above

so| Cafes Amalercss & aTey a1 [y el A6 w1 A 2
(A) %I
(B) =t
(C) A < B Teg
(D) Toltad (IR =
11. The subject matter of Ethics is —
(A) Reality
(B) Knowledge
(C) Beauty
(D) Human conduct
>y | e fereeg 7e1 —
(A) el
(B) =Iq
(C) cT7
(D) e @53
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12. “It is better to be a Socrates dissatisfied than to be a pig satisfied”— who says this ?
(A) Bentham
(B) Plato
(C) Socrates
(D) Mill
S| OY *FT REAN AT TP AFHH & Sl — (F AR 2
(A) 2
(B) C2ITht
(C) oA
(D) f&
13. “We all desire pleasure ; therefore, pleasure is desirable’ — who advocated this ?
(A) Mill
(B) Lillie
(C) Plato
(D) Hobbes
SO | “EIEI AAE Y P, SO, Y W FRERE ) — TS’ 2
(A) T3l
(B) fetfer
(C) 2t
(D) T
14. Who said that mans duty is to obey the moral law ?
(A) J.S. Mill
(B) Bentham
(C) Kant
(D) Hume
581 TS [zl #AleT 2 etz F6)° — Tf&(G I 2
(A) (. @ e
(B) =™
(C) <1
(D) 2% P.T.0.
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15. According to Gandhiji, which of the following is not consistent with non-violence. —
(A) Sacrifice of one’s life
(B) Love for others
(C) Non-co-operation
(D) Passive submission

se | NRfeR TORPIE Msfiiie (@It SRR A oo 77 2

(A) FIF8 G el T4

(B) SR 9 (2= Al SierRm
(C) S-7Teafarel
(D) el swefel
16. Who holds the view “Good will is good in itself” ?
(A) Socrates
(B) Bentham
(C) Mill
(D) Kant

Su | PIF 7RSI IR TRl FORwE AL —
(A) oA
(B) 2
(C) e
(D) %
17. Bhagavatgita has been considered as the important work due to its —
(A) harmonious philosophy of life
(B) moral teaching
(C) synthesis of action, devotion and knowledge
(D) All of the above
sa | SrmelsREel 9 wweel egme f[uafvw 2, Fimd —
(A) «re e SR FI(F 7= 7Jef
(B) «rs e (oo
(C) &, of& ¢ witwg «FaFael

(D) TR ] M
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18. Active euthanasia is —
(A) A positive act which causes death
(B) A criminal act in Holland
(C) Killing oneself
(D) A permanent vegatative state
St | A FEYY 2e —
(A) @6 WMLF fF= A T WR
(B) ZICTH G0 ST el
(C) ez 2oyl w0
(D) BRI GG Tl o
19. The Philosophy of Satyagraha is originally ascribed to —
(A) Kautilya
(B) Mahatma Gandhi
(C) Ruskin
(D) Dr. B. R. Ambedkar
5o | FGIECES Ve o1 I I (S IS 2
(A) Fifoen
(B) =il A
(C) =
(D) T3 . 9K, S
20. Which one of the following does not fit in with the rest ?
(A) Hedonism
(B) Emotivism
(C) Altruism

(D) Utilitarianism

30| A (@D ARFSTET A T2 T 2
(A) aam
(B) SINRoRM
(C) ~Rfzeam
(D) SHATIRM
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21. Who of the following has written the book ‘A Manual of Ethics’ —
(A) Mackenzie
(B) Mill
(C) Bentham
(D) Lillie
33| S5F & ‘A Manual of Ethics’® 326 ferates ¢
(A) G
(B) &1
(©) @
(D) ferfer
22. Accidental action is —
(A) Voluntary action
(B) Non-voluntary action
(C) In-voluntary action
(D) Al
23| WS e g —
(A) Ifozs fa
(B) itz few
(C) Tfefea e
(D) aefer
23. Who says, ‘Ethics may be defined as the study of what is right or good in conduct’ ?
(A) Lillie
(B) Mill
(C) Mackenzie
(D) Moore
x0| IHE I Ao Tl 2o wipce 8oy Sty Tw [@iw 2
(A) feifer
(B) TaeT
(C) sfe
(D) I«
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24. Which of the following is not true regarding the Kant’s theory of Ethics ?
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(A) Good will alone is not good

(B) Duty for the sake of duty

(C) Moral law is a categorical imperative

(D) all of these

FICHH (6T TS STHCH ANBF (PG AfGF 7 2
(A) AMHRE GG AL T

(B) FET FE MU o7

(C) Tfe= forw @ feigi®

(D) THEE ARG

Who of the following the advocate of gross egoistic hedonism ?
(A) Mill

(B) Bentham

(C) Both A and B

(D) None of these

Ao (I o 2o SRR TGS 2

(A) T/

(B) =™

(C) Toxg A @32 B

(D) 90 (FTL

Are habitual actions objects of moral judgement ?
(A) Yes

(B) No

(C) Doubtful

(D) None of these

Srorge e [ Cafes et ey 2
(A) 2

(B) =

(C) I TS

(D) «aferd @
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Mill’s theory of utiliterianism is called —
(A) Gross
(B) Refined
(C) Both A and B
(D) None of these
e Soraifsreram & AieT #iffbw 2
(A) SPIRI®
(B) se
(C) Toxg A @32 B
(D) «afem @whE a7
Who among the following philosophers is an environmentalist ?
(A) Hegel
(B) Lillie
(C) Arne Naess
(D) All of them
AR (I woe gvem AR 2
(A) c2eatet
(B) fetfer
(C) G ™
(D) A FAIZ
Which among the following is the subject of moral judgement ?
(A) Motive
(B) Intention
(C) Both A and B
(D) None of these
e Rerefr S @I tafss et eaae 2
(A) oy
(B) Sfea™
(C) Tex8 A @ B
(D) «afe @whE a7
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30. Who among the following philosophers admit qualitative difference between pleasure ?
(A) Bentham
(B) Kant
(C) Mill
(D) None of them
9o | A @I wF T @elre A1 P FCACE ?
(A) 2
(B) <%
(C) fim
(D) AT (FTZ
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Paper Code : II1 - B
(Marks : 70)

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Section - I
(Marks : 45)

Answer any three questions of the following.

. Explain and examine Mill’s concept of utilitarianism.

. State and explain the arguments for and against suicide.

. What are the principles for deep ecological ethics ? Discuss.

. Write a short note on Gita’s niskama karma.

. Briefly discuss the different theories of punishment.

. Explain with examples the utility of environmental ethics.

Section - 11

(Marks : 25)

. Answer any five questions of the following :

(a)
(b)
(c)
(d)
(e)
®
(8)
(h)
(i)
()

Distinguish between active and passive euthanasia.

Explain briefly the concept of Applied Ethics.

Distinguish between moral and non-moral actions with examples.
Briefly explain the notion of truth after Gandhi.

Explain Kant’s notion of ‘duty for duty’s sake’.

Write a short note on ‘paradox of Hedonism’.

What is shallow ecology ?

15%3=45

15
15
15
15
15
15

5x5=25

What is ethical hedonism ? How is it differentiated from psychological hedonism ?

Write a note on freedom of will.

Is ethics normative science ? Discuss.
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